Science Mid-term Review

Answer the following questions (Similar questions but using multiple choice format will be on mid-term)
____
1.
The variable being measured is the _____.

____
2.
Water vapor in the air is measured with the _____.

____
3.
Conclusions to scientific experiments should be based on _____.

____
4.
Using Landsat, scientists make accurate maps of _____.

____
5.
Areas of equal elevation are connected by _____ lines on a map.

____
6.
An example of a raised, flat area is/are the _____.

____
7.
Distances east and west of the prime meridian are measured in degrees of _____.

____
8.
All of the following are true about contour lines EXCEPT that _____.

	a.
	they are close around hills and basins or depressions

	b.
	they never cross

	c.
	whenever they cross streams, contour lines form Vs that point downstream

	d.
	whenever they cross streams, contour lines form Vs that point upstream


____
9.
New York time is three hours later than Los Angeles time. If it's _____ in Los Angeles, it is noon in New York.

	a.
	3 A.M.
	c.
	9 A.M.

	b.
	3 P.M.
	d.
	9 P.M.


____
10.
New York time is five hours earlier than time at the prime meridian. So, if it's 11:00 P.M. on Friday in New York, it's _____ at the prime meridian.

	a.
	6:00 P.M. on Saturday
	c.
	4:00 A.M. on Saturday

	b.
	6:00 P.M. on Friday
	d.
	4:00 A.M. on Friday


____
11.
If it is 2:00 A.M. on Saturday in New York, the time and day in California would be _____.

	a.
	11:00 P.M. on Saturday
	c.
	5:00 A.M. on Saturday

	b.
	11:00 P.M. on Friday
	d.
	none of the above


____
12.
What properties are used to identify minerals
____
13.
Rocks are foliated or nonfoliated depending on their _____.

____
14.
Explain what can occur in a rock cycle
____
15.
The rock cycle shows each rock _____.

	a.
	as it was millions of years ago
	c.
	on a continuing journey

	b.
	as it is in recent times
	d.
	as it was originally formed


____
16.
How are rocks classified as igneous, sedimentary and metamorphic?
____
17.
_____ cause chemical weathering.

____
18.
If rock weathers quickly, deep soils _____develop.

____
19.
Thick soils form most readily on _____.

____
20.
Loess is formed by _____.

____
21.
What conditions help preserve organisms as fossils 
____
22.
Determining the order of events and the relative age of rocks by examining the position of rocks in a sequence is called _____.

____
23.
Gaps in rock layers are called _____.

____
24.
A limestone bed containing fossils that are 550 million years old is _____ a bed of sandstone containing fossils that are 400 million years old.

____
25.
Rock layers are correlated if they both contain the same _____.

____
26.
If a layer of sandstone lies on top of a layer of limestone in which a 300-million-year-old fossil is found, and there are no unconformities, the layer of sandstone must be _____.

____
27.
With _____ dating, a rock's exact age can be determined, whereas with _____ dating, a rock's age is compared to the ages of other rocks.

____
28.
Erosion called mass movement is caused by_______

____
29.
A mixture of weathered rock, organic matter, water, and air that supports the growth of plant life

____
30.
______ is a mechanical or chemical surface process that breaks rocks into smaller pieces

Provide the definition for the following explanations.
____
31.
Breaking down of unstable isotopes into other isotopes and particles
____
32.
Some isotopes are unstable and decay into other isotopes and particles
____
33.
Age in comparison to the age of other things
____
34.
Earth processes occuring today are similar to those that occured in the past
____
35.
A thin film of carbon residue is left, forming a silhouette of the original organism
True/False  Indicate whether the statement is true or false. If false, provide the correct response
____
36.
The Global Positioning System, or GPS, is a satellite-based, radio navigation system that allows users to determine their exact position on Earth.
____
37.
Remote sensing is a way of collecting information about Earth from a distance.
____
38.
Landsat refers to the use of radar waves to make maps of Earth.
____
39.
Carbon films are formed when a thin film of carbon is left, forming a silhouette of the original organism.
____
40.
Dinosaur footprints are original remains.
____
41.
To be a useful index fossil, a species must have been rare.
____
42.
Nonconformities occur when sedimentary rocks are deposited on top of uplifted and eroded metamorphic or igneous rocks.
____
43.
Radiocarbon dating would be useful in dating the age of Earth.
____
44.
Index fossils are the remains of species that existed on Earth for relatively short periods of time.
____
45.
Absolute age examines the position of rocks in a sequence.
____
46.
Plant roots also produce acid that reacts with rocks.
____
47.
Erosion occurs because gravity, ice, wind and water sculpt Earth’ surface.
____
48.
Index fossils are the remains of species that existed on Earth for relatively short periods of time, were abundant and were widespread geographically.
____
49.
Any evidence of ancient life is called disconformity.
____
50.
Non-foliated rocks have visible layers or elongated grains of minerals.
Other

51.
Design an experiment to the question: 

Does fertilizer affect the growth of a plant?

 Use If....then...because sentence to write the hypothesis

Hypothesis: ____________________________________________________________


52.
List the materials you would need to do your experiment  


53.
Identify the independent variable, constants and dependent variable  

	Question
	Independent Variable
	Dependent Variable
	Constants

	Does fertilizer affect the growth of a plant?


	
	
	



54.
Include detailed steps of your experiment 

55.
It is observed that 

	Condition
	Average daily height of the plant (cm)


	Days
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13

	Without fertilizer
	0
	0
	.4
	5.7
	12
	19
	26
	35
	45
	54
	65
	76
	87.2

	With fertilizer
	0
	0
	0
	3.0
	5.8
	11
	17
	24
	34
	43
	52
	63
	72.7


Plot the results of your experiment on the graph below   
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56.
Draw a conclusion based on the results of the table and the graph  

Conclusion
Based on my findings, the hypothesis is (correct or incorrect) ___________  because

____________________________________________________________________

____________________________________________________________________

_____________________________________________________________________

